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000 1.1« movd_mmx.c

#include <stdio.h>
#include "libcom.h"

void
usage (char *p)
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MOVD

fprintf (stderr, "usage: %s [argl]l\n", p);

int
main(int argc, char *argvl[])

{

operand *src, *dst0, *dstl;
/*
* check if 1 command line argument is given
*/
if(argc != 2) {
usage (argv([0]);
return -1;
}
/*
* convert each command line argument to packed value
*/
if((src = hex2operand64 (argv([1], 8, OPERAND_ALIGNED)) == NULL) {
fprintf (stderr, "argl(%s): invalid value.\n", argv[1l]);
return -1;
}
if((dst0 = alloc_operand64 (8, OPERAND_ALIGNED)) == NULL) {
fprintf (stderr, "cannot allocate memory.\n");
return -1;
}
if((dstl = alloc_operand64 (8, OPERAND_ALIGNED)) == NULL) {
fprintf (stderr, "cannot allocate memory.\n");
return -1;
}
/*
* show the contents of operands
*/
printf ("MOVD\n source: %s\n", operand2str(src));
/~k
* do the calculation with using SIMD instruction
*/
asm volatile(
"movd (%0), %%mm0\n\t"
"movd  %%mm0, (%1)\n\t"
"movd %%mm0, $%eax\n\t"
"movl ¥%eax, (%2)\n\t"
"emms\n"

"r"(src->alligned), "r"(dstO0->alligned), "r"(dstl->alligned)

n %eaxu , " %mo n
)
/*
* show the result
*/
printf (" result: %$s\n", operand2str(dst0));
printf (" result: %$s\n", operand2str(dstl));

free_operand(src);
free_operand (dstO0) ;
free_operand (dstl)

i

return 0;

odobi1100000

> . /movd_mmx 0123456789%abcdef
MOVD
source: 0123456789%abcdef
result: 0000000089abcdef
result: 0000000089abcdef
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ooo00000oo0O00000o00O000o0oooOo0OoXMMOOOOOOO0OOOO0OO0O0OO
Oo000000O00000000000xmOOO0O00O0C0O0O0000000O0C0O0O000O
ooooooooooo

000 1.2« movd_xmm.c

#include <stdio.h>
#include "libcom.h"

void
usage (char *p)

{

fprintf (stderr, "usage: %s [argl]l\n", p);

int
main(int argc, char *argv[])
{

operand *src, *dst0, *dstl;
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/* free_operand (dstl) ;
* check if 1 command line argument is given
*/ return 0;
if(argc != 2) { )
usage (argv([0]);
return -1;
} oo0oi1200000
> . /movd_xmm 0123456789abcdeffedcbad876543210
/* MOVD
* convert each command line argument to packed value source: 0123456789abedeffedcbad876543210
*/ . result: 00000000000000000000000076543210
if((src = hex2operandl28(argv[1l], 16, OPERAND_ALIGNED)) == NULL) { result: 00000000000000000000000076543210
fprintf (stderr, "argl(%s): invalid value.\n", argv[1l]);
return -1;
} 000 00MMXO Inteld
if((dst0 = alloc_operandl28(16, OPERAND_ALIGNED)) == NULL) ({ . . :
fprintf (stderr, "cannot allocate memory.\n'); WindowsO Visual StudioD 0D OO0 000000000 IntelD000000000000O00O0O
return -1; 00000 OWindowsOOOOOCygwinOOOOOO AT&TOOOOOOOOOODOOOOO
} 0000000000000 Visud CHOODODODODAT&TOODOODOOODODODOOOOOOOO
if((dstl = alloc_operandl28(16, OPERAND_ALIGNED)) == NULL) ({
fprintf (stderr, "cannot allocate memory.\n'); J000o00d00dnd00000000000000000000
return -1; gool130oMMxXOoODoDoooooooooooMovbooooooooooooooaoo
} dodooooooMMmxXOooDoooooooooooooooooooo
/*
000 1.3+ movd_mmx
* show the contents of operands
" #include <stdio.h>
printf ("MOVD\n source: %s\n", operand2str(src));
; int main( int argc, char *argvl[]
*
{
* do the calculation with using SIMD instruction unsigned int srcl2];
*/ ) unsigned int dst0[2];
asm volatile( unsigned int dstl;
"movd (%0), $sxmm0\n\t"
"movd  %%xmm0, (%1)\n\t" int 1i;
"movd $sxmm0, %%eax\n\t" for(i=0;1<2;1i++)
'movl  %%eax, (%2)\n" dst0[i]=0;
"r"(src->alligned), "r"(dstO->alligned), "r"(dstl->alligned) src[1]=0x01234567;
) "Beax", "%sxmm0" src[0]=0x89%abcdef;
__asm
/* {
* show the result movd im0 src
*/ movd dst0, mm0
printf (" result: %$s\n", operand2str(dst0)); movd cax 1m0
printf (" result: %$s\n", operand2str(dstl)); nov dstl, eax
free_operand (src) ; emms

free_operand (dst0) ;

¢ 7
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printf (" source: %08x%08x¥n", src[l], src[0]);
printf (" result: %08x%08x¥n", dst0[1], dst0[0]);
printf (" result: %08x¥n", dstl);

return 0;

printf(" result: %$08x%08x%08x%08x¥n", dst0[3], dst0[2], dst0[1], dst0[0]);
printf (" result: %08x¥n", dstl);
return 0;

oodoi1300000
C:¥>pgm

source: 0123456789abcdef
result: 0000000089abcdef
result: 89abcdef

00000SSE20 Inteld

SSe20 0000000 MMXOOOOOOOOO0OO0OO0O0O0O0OO000oo0ooo0oo0g MOVD
gooooooooooooooooooobobooooXvMODOOOOOOOoOODDOO

gobooooooo

000 1.4e movd_xmm

#include <stdio.h>

int main( int argc, char *argv[] )

{

unsigned int src[4];

unsigned int dst0[4];

unsigned int dstl;

int 1;

for(1=0;1<4;1i++)

dst0[1]1=0;

src
src
src
src

3]1=0x01234567;
21=0x89abcdef;
1]1=0xfedcbad8;
0]1=0x76543210;

__asm
{
movd xmm0 ,
movd dst0,
movd eax,
mov dstl,
}
printf (" source:

src
xmm0
xmm0
eax

%08x%08x%08x%08x¥n", src[3], src[2],

src(l],

src[0]);

odobi1400000

C:¥>pgm
source: 0123456789abcdeffedcbad876543210
result: 00000000000000000000000076543210
result: 76543210

MMX
ssez




